
#17C56-HARDWARE (STAINLESS)

Item MM # DESCRIPTION

1 107592 NUT,HEX,SS,ELASTIC LOCK,NC,3/8"

2 107593 NUT,HEX,SS,ELASTIC LOCK,NC,5/8"

3 107612 NUT,FINISHED,HEX,SS,#6-32

4 107613 NUT,HEX,FINISHED,SS,#8-32

5 107614 NUT,HEX,FINISHED,SS,#10-32

6 107615 NUT,HEX,FINISHED,SS,#10-24

7 107616 NUT,HEX,FINISHED,SS,#12-24

8 107617 NUT,HEX,FINISHED,SS,1/4"

9 107618 NUT,HEX,FINISHED,SS,S/16"

10 107619 NUT,HEX,FINISHED,SS,3/8"

11 107620 NUT,HEX,FINISHED,SS,1/2"

12 107621 NUT,HEX,FINISHED,SS,S/8"

13 107622 NUT,HEX,FINISHED,SS,3/4"

14 107623 NUT,HEX,FINISHED,SS,1"

15 107648 NUT,LOCK,SS,W/NYLON INSERT,5/16"

16 107953 SCREW,CAP,HEX,SS,1/4"X 3/4"

17 107954 SCREW,CAP,HEX,SS,1/4"X 1"

18 107955 SCREW,CAP,HEX,SS,1/4"X 1-1/4"

19 107956 SCREW,CAP,HEX,SS,1/4"X 1-1/2"

20 107957 SCREW,CAP,HEX,SS,1/4"X 1-3/4"

21 107958 SCREW,CAP,HEX,SS,1/4"X 2"

22 107959 SCREW,CAP,HEX,SS,1/4"X 3"

23 107960 SCREW,CAP,HEX,SS,S/16"X 3/4"

24 107961 SCREW,CAP,HEX,SS,S/16"X 1"

25 107962 SCREW,CAP,HEX,SS,S/16"X 1-1/4"

26 107963 SCREW,CAP,HEX,SS,S/16"X 1-1/2"

27 107964 SCREW,CAP,HEX,SS,S/16"X 2"

28 107967 SCREW,CAP,HEX,SS,3/8"X 1"

29 107968 SCREW,CAP,HEX,SS,3/8"X 1-1/4"

30 107969 SCREW,CAP,HEX,SS,3/8"X 1-1/2"

31 107970 SCREW,CAP,HEX,SS,3/8"X 1-3/4"

32 107971 SCREW,CAP,HEX,SS,3/8"X 2"

33 107972 SCREW,CAP,HEX,SS,3/8"X 3"

34 107974 SCREW,CAP,HEX,SS,3/8"X 4"

35 107975 SCREW,CAP,HEX,SS,1/2"X 3/4"

36 107976 SCREW,CAP,HEX,SS,1/2"X 1"

37 107977 SCREW,CAP,HEX,SS,1/2"X 1-1/4"

38 107978 SCREW,CAP,HEX,SS,1/2"X 1-1/2"

39 107979 SCREW,CAP,HEX,SS,1/2"X 1-3/4"

40 107980 SCREW,CAP,HEX,SS,1/2"X 2"

41 107981 SCREW,CAP,HEX,SS,1/2"X 2-1/2"

42 107982 SCREW,CAP,HEX,SS,1/2"X 2-3/4"

43 107983 SCREW,CAP,HEX,SS,1/2"X 3"

44 107984 SCREW,CAP,HEX,SS,1/2"X 3-1/2"

6/4/2018



#17C56-HARDWARE (STAINLESS)

Item MM # DESCRIPTION

45 107985 SCREW,CAP,HEX,SS,S/8"X 1"

46 107986 SCREW,CAP,HEX,SS,S/8"X 1-1/2••

47 107987 SCREW,CAP,HEX,SS,S/8"X 1-3/4"

48 107988 SCREW,CAP,HEX,SS,S/8"X 2"

49 107989 SCREW,CAP,HEX,SS,S/8"X 2-1/4"

50 107990 SCREW,CAP,HEX,SS,S/8"X 2-1/2"

51 107992 SCREW,CAP,HEX,SS,S/8"X 3••

52 107993 SCREW,CAP,HEX,SS,S/8"X 3-1/2"

53 107994 SCREW,CAP,HEX,SS,S/8"X 3-3/4"

54 108000 SCREW,CAP,HEX,SS,3/4"X 2"

55 108001 SCREW,CAP,HEX,SS,3/4"X 2-1/4"

56 108002 SCREW,CAP,HEX,SS,3/4"X 2-1/2"

57 108004 SCREW,CAP,HEX,SS,3/4"X 3"

58 108006 SCREW,CAP,HEX,SS,3/4"X 3-1/2"

59 108007 SCREW,CAP,HEX,SS,3/4"X 4"

60 108008 SCREW,CAP,HEX,SS,3/4"X 4-1/2"

61 108010 SCREW,CAP,HEX,SS,7/8"X 2"

62 108313 SCREW,MACH,SS,F/HD,PHIL,6-32 X 1/2"

63 108314 SCREW,MACH,SS,F/HD,PHIL,6-32 X 3/4"

64 108316 SCREW,MACH,SS,F/HD,PHIL,6-32 X 1-1/2"

65 108321 SCREW,MACH,SS,F/HD,PHIL,8-32 X 1"

66 108322 SCREW,MACH,SS,F/HD,PHIL,8-32 X 1-1/2"

67 108325 SCREW,MACH,SS,F/HD,PHIL,10-24 X 1/2"

68 108326 SCREW,MACH,SS,F/HD,PHIL,10-24 X 3/4••

69 108327 SCREW,MACH,SS,F/HD,PHIL,10-24 X 1"

70 108328 SCREW,MACH,SS,F/HD,PHIL,10-24 X 1-1/2"

71 108332 SCREW,MACH,SS,F/HD,PHIL,10-32 X 3/4"

72 108333 SCREW,MACH,SS,F/HD,PHIL,10-32 X 1"

73 108338 SCREW,MACH,SS,F/HD,PHIL,12-24 X 3/4"

74 108343 SCREW,MACH,SS,F/HD,PHIL,1/4 X 1/2"

75 108344 SCREW,MACH,SS,F/HD,PHIL,1/4 X 3/4"

76 108345 SCREW,MACH,SS,F/HD,PHIL,1/4 X 1"

77 108346 SCREW,MACH,SS,F/HD,PHIL,1/4 X 1-1/2"

78 108347 SCREW,MACH,SS,F/HD,PHIL,1/4 X 2"

79 108348 SCREW,MACH,SS,F/HD,PHIL,1/4 X 3"

80 108349 SCREW,MACH,SS,F/HD,PHIL,3/8 X 1"

81 108350 SCREW,MACH,F/HD,S.S,PHIL, 3/8 X 1-1/4 IN

82 108353 SCREW,MACH,SS,R/HD,PHIL,6-32 X 1/2"

83 108354 SCREW,MACH,SS,R/HD,PHIL,6-32 X 3/4"

84 108355 SCREW,MACH,SS,R/HD,PHIL,6-32 X 1"

85 108356 SCREW,MACH,SS,R/HD,PHIL,6-32 X 1-1/2"

86 108357 SCREW,MACH,SS,R/HD,PHIL,6-32 X 2"

87 108359 SCREW,MACH,SS,R/HD,PHIL,8-32 X 1/2"

88 108360 SCREW,MACH,SS,R/HD,PHIL,8-32 X 3/4"

6/4/2018



#17C56-HARDWARE (STAINLESS)

Item MM # DESCRIPTION

89 108361 SCREW,MACH,SS,R/HD,PHIL,S-32 X 1"

90 108362 SCREW,MACH,SS,R/HD,PHIL,8-32 X 1-1/2••

91 108363 SCREW,MACH,SS,R/HD,PHIL,8-32 X 2"

92 108364 SCREW,MACH,SS,R/HD,PHIL,8-32 X 3"

93 108365 SCREW,MACH,SS,R/HD,PHIL,10-24 X 1/2"

94 108366 SCREW,MACH,SS,R/HD,PHIL,10-24 X 3/4"

95 108367 SCREW,MACH,SS,R/HD,PHIL,10-24 X 1"

96 108368 SCREW,MACH,SS,R/HD,PHIL,10-24 X 1-1/2"

97 108369 SCREW,MACH,SS,R/HD,PHIL,10-24 X 2"

98 108371 SCREW,MACH,SS,R/HD,PHIL,10-32 X 1/2"

99 108372 SCREW,MACH,SS,R/HD,PHIL,10-32 X 3/4"

100 108373 SCREW,MACH,SS,R/HD,PHIL,10-32 X 1"

101 108374 SCREW,MACH,SS,R/HD,PHIL,10-32 X 1-1/2"

102 108375 SCREW,MACH,ROUND,PHIL,SS,10-32 X 2"

103 108376 SCREW,MACH,SS,R/HD,PHIL,10-32 X 3"

104 108378 SCREW,MACH,ROUND,PHIL,SS,12-24 X 3/4"

105 108383 SCREW,MACH,SS,R/HD,PHIL,1/4-20 X 1/2"

106 108384 SCREW,MACH,SS,R/HD,PHIL,1/4-20 X 3/4"

107 108385 SCREW,MACH,SS,R/HD,PHIL,1/4-20 X 1••

108 108386 SCREW,MACH,SS,R/HD,PHIL,1/4-20 X 1-1/2"

109 108387 SCREW,MACH,SS,R/HD,PHIL,1/4-20 X 2"

110 108388 SCREW,SS,MACH,R/HD,PHIL,1/4-20 X 3"

111 108476 SCREW,SET,HEX,KNURL,S.S,1/4-20 X 1/4

112 108480 SCREW,SET,HEX,KNURL,S.S,1/4-20 X 1/2

113 108482 SCREW,SET,HEX,KNURL,S.S, 1/4-20 X 3/4

114 108487 SCREW,SET,HEX,KNURL,S.S,S/16-18 X 3/8

115 108493 SCREW,SET,HEX,KNURL,S.S,3/8-16 X 3/8

116 108494 SCREW,SET,HEX,KNURL,S.S, 3/8-16 X 1/2

117 108496 SCREW,SET,HEX,KNURL,S.S, 3/8-16 X 3/4

118 108503 SCREW,SET,HEX,KNURL,S.S, 1/2-13 X 1/2

119 108625 SCREW,S.METAL,SS,PN/HD,PHIL,#4 X 3/8"

120 108626 SCREW,S.METAL,SS,PN/HD,PHIL,#4 X 1/2"

121 108627 SCREW,S.METAL,SS,PN/HD,PHIL,#4 X 5/8"

122 108629 SCREW,S.METAL,SS,PN/HD,PHIL,#6 X 1/2••

123 108630 SCREW,S.METAL,SS,PN/HD,PHIL,#6 X S/8"

124 108631 SCREW,S.METAL,SS,PN/HD,PHIL,#6 X 3/4"

125 108632 SCREW,S.METAL,SS,PN/HD,PHIL,#6 X 1"

126 108636 SCREW,S.METAL,SS,PN/HD,PHIL,#8 X 1/2"

127 108637 SCREW,S.METAL,SS,PN/HD,PHIL,#8 X S/8"

128 108638 SCREW,S.METAL,SS,PN/HD,PHIL,#8 X 3/4"

129 108639 SCREW,S.METAL,SS,PN/HD,PHIL,#8 X 1"

130 108640 SCREW,S.METAL,SS,PN/HD,PHIL,#8 X 1-1/4"

131 108641 SCREW,S.METAL,SS,PN/HD,PHIL,#8 X 1-1/2••

132 108642 SCREW,S.METAL,SS,PN/HD,PHIL,#10 X 1/2••

6/4/2018



#17C56-HARDWARE (STAINLESS)

Item MM # DESCRIPTION

133 108643 SCREW,S.METAL,SS,PN/HD,PHIL,#10 X 5/8"

134 108644 SCREW,S.METAL,SS,PN/HD,PHIL,#10 X 3/4"

135 108645 SCREW,S.METAL,SS,PN/HD,PHIL,#10 X 7/8"

136 108646 SCREW,S.METAL,SS,PN/HD,PHIL,#10 X 1"

137 108647 SCREW,S.METAL,SS,PN/HD,PHIL,#10 X 1-1/4"

138 108648 SCREW,SHEET METAL,PAN,SS,#10 X 1-1/2"

139 108650 SCREW,S.METAL,SS,PN/HD,PHIL,#10 X 2"

140 108651 SCREW,S.METAL,SS,PN/HD,PHIL,#12 X 1/2"

141 108652 SCREW,S.METAL,SS,PN/HD,PHIL,#12 X 5/8"

142 108653 SCREW,S.METAL,SS,PN/HD,PHIL,#12 X 3/4"

143 108654 SCREW,S.METAL,SS,PN/HD,PHIL,#12 X 1"

144 108655 SCREW,S.METAL,SS,PN/HD,PHIL,#12 X 1-1/4"

145 108656 SCREW,S.METAL,SS,PN/HD,PHIL,#12 X 1-1/2"

146 108657 SCREW,S.METAL,SS,PN/HD,PHIL,#12 X 2"

147 108659 SCREW,S.METAL,SS,PN/HD,PHIL,#14 X 1"

148 108660 SCREW,S.METAL,SS,PN/HD,PHIL,#14 X 2"

149 109014 WASHER,FLAT,SS,TYPE 304,18-8,#6

150 109015 WASHER,FLAT,SS,T304,18-8,#8

151 109016 WASHER,FLAT,SS,T304,18-8,#10

152 109017 WASHER,FLAT,SS,T304,18-8,#12

153 109018 WASHER,FLAT,SS,T304,18-8,1/4"

154 109019 WASHER,FLAT,SS,T304,18-8,5/16"

155 109020 WASHER,FLAT,SS,T316,3/8"

156 109021 WASH ER,FLAT,SS,T304,18-8,1/2"

157 109022 WASH ER,FLAT,SS,T304,18-8,5/8"

158 109023 WASHER,FLAT,SS,T304,18-8,3/4"

159 109024 WASHER,FLAT,SS,TYPE 304,18-8, 1"

160 109038 WASHER,LOCK,SS,1/4"

161 109039 WASHER,LOCK,SS,S/16"

162 109040 WASHER,LOCK,SS,TYPE 316,3/8••

163 109041 WASHER,LOCK,SS,1/2"

164 109042 WASHER,LOCK,SS,S/8"

165 109043 WASHER,LOCK,SS,3/4"

166 114554 SCREW,SELF DRILL,SS,HEX HD,#10 X 3/4"

167 114555 SCREW,SELF DRILL,SS,HEX HD,10 X 1"

168 115105 SCREW,CAP,SS,SOCKET HEAD, 1/4-20 X 1/2••

169 115877 NUT,LOCK,SS,W/NYLON INSERT,1/2"-13

6/4/2018


